WORKSHEET 1/3

L5 FOOTPRINTS WITHOUT FEET

Choose the correct answer.

. What is the mystery in the opening paragraphs of the story?
a) Fresh footprints of bare feet

b) the visible fresh muddy footprints of a visible man

c) The fresh muddy visible footprints of an invisible man

. What had Griffin just discovered?

a) Arare drug that makes the body transparent

b) A magic potion that makes the body transparent

c) None of the above

. What special qualities of invisibility did he acquire? Choose all the correct
options.

a) He was as transparent as glass.

b) He was as breakable as glass.

c) He was as solid as glass.

. How did he become a homeless wanderer?

a) He was thrown out by his landlord

b) He chose to leave his rented house

c) He had to run away as he had set it in fire.

. He had chosen a bad time of the year to become invisible.
a) This was because the cops were looking for criminals.

b) It was bitterly cold .

c) It was the year of economic depression.

. What did he do once the store was closed

a) He clothed and fed himself.

b) He slept on a pile of quilts.

c) He took sweets and wine from the grocery store

d) All of the above

. Why do you think what he did in the grocery store was wrong?
a) HE had broken into the shop.

b) He had not paid for the things he had taken or eaten.

c) He fought with the shop assistants.

. Do you think the shopkeeper of the theatrical company saw Griffin going
upstairs?

a) Yes, Griffin had asked him the way upstairs

b) No, he was invisible

. Why do you think he attacked the shopkeeper?

a) To create fear in him

b) To steal money

c) To escape without being seen




Il. Answer the following.

1 Why is Griffin called brilliant yet lawless?

2. How did the invisible man first become visible?

3. Why was he wandering the streets?

4. Why did Griffin decide to slip into a big London store?

5. What did Griffin do in the shop of a theatrical company?



